TIRFEERBEDE

(2B /MMEmERD

AR 1 = RASE | XILEBE | 251 % 5
4] 9 1+ (300,000 x 3% 43) 900,000 0 900,000
5| 13| BHHERE |12 oh—F)yDR 2,580 897,420
6| 18| BHMERE | VY —T+ L E—EXER 3,564 893,856
6| 18| BHHERE (1> 0h—b)yT R 2,580 891,276
7| 30| EHHERME /SR 151,780 739,496
8| 2|HAEEHEE|7/28 MiEs BEmHS 26,144 713,352
8| 20| BHHERE |12 oh—F)yDR 2,580 710,772
9| 30| E¥HMERME |aE—RAMEXER 6,869 703,903
10[ 20| EHHERE |10 h—R)vDR 7,586 696,317
1] 30| EHERE |HAT—TR 668 695,649
11| 30| BHERE |10 h—)vPR 9,460 686,189
1| 18| EHHERE [T, I7MVEXER 6,652 679,537
1| 20| BHMERE |17 h— M) v DR 8,649 670,888
3| 10| BHHERE |12 oh—F)yDR 18,740 652,148
3| 25| BHHMERE |2y TYIREX AR 9,337 642,811
3| 25| BHERKE | R—/—hvi— 14,904 627,907
3| 31 BERLAN 627,907 0
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0 0
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900,000 900,000 0




